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QUESTION 1

Which RSSD counter table holds the description of a sampling period?
A. Rs_statcounters

B. Rs_statdetail

C. Rs_statrun

D. Rs_subscriptions

Correct Answer: C

QUESTION 2

Nonatomic Bulk Materialization can NOT be used, if is set for Replication Definition for the primary
table.

A. Autocorrection

B. Replicate minimal columns
C. Primary key

D. Searchable columns

Correct Answer: B

QUESTION 3
Which of the following is TRUE regarding the operation of an automatic Warm Standby system? (Choose 2)

A. An active database can have one or more standby databases and any database can contain both active and standby
data.

B. All DML and DDL changes to the active system are replicated to the standby system.
C. The minimally logged command \\'truncate table\\' is a DML command that is replicated in a Warm Standby system.

D. The WSELECT INTO\W command is replicated because all tables in the active system are marked for replication to
the standby.

Correct Answer: BC

QUESTION 4

Which Replication Server component is responsible for preventing transactions from being truncated until they are
safely stored in the Replication Server stable device?
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A. DIST
B. SQM
C.SQL
D. RepAgent

Correct Answer: D

QUESTION 5

In the Replication Server System, where is replication halted on a transaction affecting a table that does not have an
associated subscription?

A. Inbound queue

B. Outbound queue

C. Materialization queue
D. Primary database

Correct Answer: A
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